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The following statements are about biodiversity hotspot :

feiferRaa wye Srafafdear slewie @ fAvg H & -

(A) There are currently about three dozen biodiversity hotspots in the world
§9 999 v | arr 9 goia Safafderan eresdie §

(B) A biodiversity hotspot must have at least 0.5% species of vascular plants
found nowhere else on the Earth

WAATaedar gewie ¥ &5 9 &9 0.5% Hde-1d Ur"i &l Uoadl 1, O §Ndl Ux
Fel 370 |9 Fog =5

(C) A biodiversity hotspot must lose at least 70 percent of its primary native
vegetation

Siafafdear gexdic d URMH® Aifcie gaafaal o1 70% %< &l 7Y &
Options :
Only A
®ad A

Aand B
A TUdB

A Band C
A, BtuacC

None of the three

dFl F | ®ig Aol

4.

Question Number : 2 Question Id : 5431078764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the tollowing is not a fresh water ecosystem ?
fmferRaa % & @M= dron wer uiRweifas o= 787 & 7

Options :

River
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Question Number : 3 Question Id : 5431078765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following statements about troposphere is incorrect ?
aHUSH @ (a9 H fefeiad werEl 5 | B Told © 7
Options :

The troposphere is the lowest layer of the Earth's atmosphere

, EMEHUSS gedl & argEvSe B qad el WK ©

The temperature increases with altitude

wly

o TTTHE $Hdlg & G ggdl &

Air in the troposphere is heated from the ground

. ETHUSS H arY NI | T el ©

Weather occurs in the troposphere
4 qﬂlﬂq &flﬂqﬂﬁﬂ £‘T EIIEEI gﬁ“ g

Question Number : 4 Question Id : 5431078766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Dr. M. S. Subbulakshmi has distinguished herself in the field of :
glo YHo Yo JgHae 4 wd 31 faRre vt fam & -

Options :

Kathak
| PP & &9 H

Bharat Natyam
, FRG AT & & H

[ ]
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Playing Violin
o qrafer ared & &9 §

Vocal Music

4ﬂm=r?'5&“ﬁfﬁ

Question Number : 5 Question Id : 5431078767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is a martial dance ?
Freferfiaa 5 9 @4 AERe I &1 U B9 & 2
Options :

Kathakali of Kerala

P DI HUHAI

1.

Bamboo dance of Meghalaya
o HETCTI BT 919 T

Chhau of Mayurbhan;

, TS T BT

Bhangra of Punjab

4 UG BT HTST

Question Number : 6 Question Id : 5431078768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Where did Buddha attained Mahaparinirvana ?
g& DI HEIIRMAIT Hel UIe g3 o ?
Options :

Kushinagar

BTN

1. <

Pavapuri

g, R

[ ]
gcollegedumas
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Sarnath

3?31?37531

Sravasti

STa

4.

Question Number : 7 Question Id : 5431078769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following cities is not related to Indus Valley Civilization ?
74 9 B R 9Ra § Hafed TR J8T § 7
Options :

Harrapa

ool

Mohen-jo-daro
ATEAISTS!

2

Lothal

o IR

Hastinapur

4rzﬁﬂ—rwgv

Question Number : 8 Question Id : 5431078770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

The munimum interest rate of a bank below which it is not viable to lend, is
knowm as :

g, HEAdl ©
Options :
Reserve Rate

, Ruomd =R

Base Rate
> @9 X

[ ]
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Marginal Rate
o A (@) &)

Prime Lending Rate
4 TLIGH SUR R

Question Number : 9 Question Id : 5431078771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Portion of deposits banks have to park with RBI is called :
AU qUd &1 g8 B fOry dbi @1 3Ro dlo 3Tgo H Y@ USdl &, BEATT B

Options :
Statutorv Reserve Ratio

1. Afaferd .*?’“QE'“ sie Rl

Capital Adequacy Ratio

Cash Reserve Ratio
5 e Rod HFUTS

CASA Ratio
4 Hlo Yo THo Yo IFurd

Question Number : 10 Question Id : 5431078772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Who among the tollowing famous authors was an Investment Banker prior to
turning to a columnist and a writer ?

fefoag 5 9 ®F-w1 9ig o@® (6 W™ o@®d Ud o@® 994 & Jd Ud
faermar dew or ?

Options :

Arvind Adiga

1_34?1"8!#:3:%111

Chetan Bhagat
A AT

2

[ ]
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Jhumpa Lahiri

3 FFIT A

Kiran Desai
4 B <HTg

Question Number : 11 Question Id : 5431078773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which among the tollowing body regulates Mutual Funds in India ?
ARG H RIgIe BUS Bl B aven faftafig axdt g ?

Options :

RBI

1.

SEBI

, Yo %o dlo 3mgo (%)

NABARD

3 Udo Vo djo To 3JqXo @[U

4 Uo UHo Uho E.ﬂgr'-:_ﬁ

3Ro dlo 3o

GIEIS)

Question Number : 12 Question Id : 5431078774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Sultan Azlan Shah Cup is related to which among the following Sports ?

o e e Frefoflag # 9 f5a 99 9 dafta € ?

Options :
Badminton

k.

Table Tennis

-

el
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Golf
4. I\I‘* b

Question Number : 13 Question Id : 5431078775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

With which among the following sports, Tan Thorpe' is related to ?
Options :

Athletics
LD

Boxing
, FaHarSl

Swimming

o
EIQIdJI

3.

Racing
, SR

Question Number : 14 Question Id : 5431078776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

"Magnus Carlson” is a plaver of which among the following sports /games ?
HIA HTorad” &1 dag =ifeiad 4 9 fedg Wa 9 8 7
Options :

Cricket

C

S -

Carrom

collegedunia:
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Question Number : 15 Question Id : 5431078777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

"Birdie” and "Eagle"” are two terms related to which of the tollowing sports ?

‘T vd "$e” ug F=foiaa # 9§ fhw W 9 Wt & ?

Options :

Polo

) qret
Golt

> C

Chess

Billiards

4.

Question Number : 16 Question Id : 5431078778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
What does term 'Olericulture’ mean ?

‘HTeARboay U &7 ] 3T & 7

Options :

Cultivation of cash crops

liﬂﬁfﬁﬂ?ﬂﬁﬁf{

Science of vegetable growing

Zﬂaﬁ’rwﬁaﬂﬁrﬁﬂ

Cultivation of oilseeds

Science of fruit cultivation

4 el DI PfE BT fasm

Question Number : 17 Question Id : 5431078779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question
Which among the following planets are called Jovian Planets’ ?
Fiferiad ¥ v / fo6 U8 /U8l &1 WIda 98 &8l Wl & 7

(A) Jupiter
gEfd

(B) Mercury
g

(C) Uranus
S R

Options :
L] A- 0111}7
L] Ai H_!a.

'B’ only
B 7

B and 'C'
B 7 'C

‘A'and 'C’
4 AT T

Question Number : 18 Question Id : 5431078780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The planets on which the Sun rises in the west are :
MR AR T R PP ST EaT e d § ¢
(A) Venus
b/
(B) Uranus
O]
(C) Mars
=T
Which of the options given below are correct ?
+ f§u fdweal 4 &9 Asl © 7

Options :

gcollegeduniaa
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B and 'C
N ;o AR i
'A'and 'C’
AT

'A'and 'B’
AT Y

'‘A’,'B'and 'C
4 B B §

Question Number : 19 Question Id : 5431078781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The orographic wind is not caused along which of the tollowing ?

gad yaq =feRag 9 9 fog & vyeRr foafg F8f sidl € °

Options :

Western Ghats

1trf§aﬁ’raTa

Aravalis

=y

2 e

Garo Hills
3 TN féed

Khasi Hills
4 @l fEed

Question Number : 20 Question Id : 5431078782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Cement ].:&CTDI‘}' workers are prone mn:

Options :
Leukemia
DI &

1.
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Bone marrow disease
5 e o911 I &

Asbestosis

5 T

& j,*tusi]icnsis

b

Question Number : 21 Question Id : 5431078783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

U. S. is intending to construct a physical wall along the border of :

Jo THo o QU & WY oI WA W TP Hifcd S1aR TSI HRAT A8l & 7

Options :
Canada
y, PrvS]

Mexico

ZH]C}‘W'E 53]

Puerto Rico

. T A

Russia
4. S

Question Number : 22 Question Id : 5431078784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the Oldest Veda ?
=1 9 | WTeiHas 95 ®I1F 8 7

Options :
Atharvaveda
M LCEE

Rigveda
W x

collegedunia:

India’s largest Student Review Platform



Samveda
e A q1Hd4

Yajurveda

4, TIT

Question Number : 23 Question Id : 5431078785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who was the twenty third Tirthankar of Jainism ?
wHEd & 234 dreiey o ?
Options :

Mahavir

1. ETdIR

Parshwanath
BIEGE IR

Adinath
CUGRIR

Arishtanemi

A

Question Number : 24 Question Id : 5431078786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a work ot Kalidas ?
1 § | P19 Bleiigrd @ o] 98 & ¢
Options :

Meghaduta

ks

Abhimanzhakuntalam

Sl <| | S L1
F 2

Mrichchhakatikam
3 TODHICHA
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Ritusambhar
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Question Number : 25 Question Id : 5431078787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Who amongst the following was not a member of the Dratting Committee of the
Constitution ?
dfqar uigerad |iAfa &1, 791 4 9 & 95 781 a1 ?
Options :
Mohammad Sadullah

1 HIEHS dlgecdle

K. M. Munshi

5 H‘IO ‘I:I'F]r_'_; a"fﬁ

A.K Ayyar
5 Yo @o IR

Jawaharlal Nehru
AATERATA A8

Question Number : 26 Question Id : 5431078788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The Rajva Sabha can be dissolved by :
U] 99T s N1 99 B O Gl & 7
Options :
The Prezident

y NTeafd g

The Prime Minister
5 JET-HAT 8T

The Council of Ministers

collegedunia:
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None of the three

i O H g Hig AR

Question Number : 27 Question Id : 5431078789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Establishment of a three-tier Panchayati Raj system was first recommended by :
H-F ¥ GEre WS YUimell RO R @ IR GAuerH @l TS off
Options :
Ashok Mehta Committee
| TR HEGT WEfd gw

L. M. Singhvi Committee

5 Udlo THo ey Ofafa gm

Balwantrai Mehta Committee
5 SOTd=INTg Hgdl afafd gr

Sarkaria Commission

4Wﬁm;‘mﬁm

Question Number : 28 Question Id : 5431078790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Under the Indian Constitution which amongst the following is considered to be
the guardian of the fundamental rights ?

ARG Aiag & =Ta Fefeiad d§ 9 50 Ja AfEhN &1 Herhs G ol § 7

Options :
Parliament

| g B

Prezident

> Tl )

Judiciary
3 A aricipT &l

Prime Minister

411%11?1#413%
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Question Number : 29 Question Id : 5431078791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What does fluoride pollution aftect ?
Options :
Kidney

1 &

Brain

o HIETED

Heart

Teeth

4.a-|_d

Question Number : 30 Question Id : 5431078792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Tissue that stores Fat in our bnd}-' is known as -

ah

Fad ol fh 89N NN H 99T &1 9fud $ear € 99 JF 9|l B

Options :
Muscular tissue
1. U 9 SHdd

Adipose tissue
ddl Hds

@ artilage tissue
IUTRET Had

Nervous tissue

¥ &

4| A O

Question Number : 31 Question Id : 5431078793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1 .
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Question Label : Multiple Choice Question

The bones around your chest that protect organs such as lungs, heart are called :
ATl &
Options :
Diaphragm
1 SIUTWTH

Pectoral girdle
o A HEE

Humerus

2 T

Ribs
5 e

Question Number : 32 Question Id : 5431078794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The coloured part of the human eye that controls how much light passes
through the pupil is called :
g9 3G &1 98 F9 BRa & g9 3iai ) US4 97l Gh19 B FatEd a8
Options :

Comea

CAIED

3.

Iris

2.

Retina

3 e

Optical nerve
, Sfftewe G|

Question Number : 33 Question Id : 5431078795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Dymnamo converts :

Options :
High voltage into Low voltage

| 9= dleed &1 = dreed 3

Electrical energy into mechanical energy

, faEa Sl a1 aite St |

Mechanical energy into electrical energy

3mﬁ?ﬁm?ﬂrﬂqawza

Low voltage into High voltage
, B s 31 9= dieew §

Question Number : 34 Question Id : 5431078796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The best conductor of electricity amongst the following is :
frefeiad 4 9§ fIgd &1 9e9 30T 9es @ ¢
Options :

Aluminium

1 SegHITIA

Copper

Question Number : 35 Question Id : 5431078797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Match List - I with List - IT and select the correct answer with the help of code

given below the lists :

g - I &1 gdA - 11 § gafera Sy 3R g & 9 @y 17 $e @1 ¥gmar 9

el 30X B I8 DIy

List-1 List-1II

-1 - 11
(A) Audiogram I. Heart

v -

(B) ECG. II. Brain

go "o Tilo Hiaw
(C) EEG. III. Ear

o So ullo Cak]
(D) Mammogram IV. Breast

HEH GE
Options :

Codes :

@cC -

(a) (B) (©) (D)
I II m IV

Codes :

(A) (B) ((€) (D)

Codes :

(A) (B) (©) (D)
e I H ]

Codes :

(A) B (© (@D
m I 3 W

collegedunia

—



Question Number : 36 Question Id : 5431078798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

An iron needle floats on the surface of water due to :
oile &1 g A1 DI Fag I dvcl I8l g

Options :
Upthrust of water
; Tl & FTelas B BRI

Surface tension
, % T & DIV

ViaccrEil'}'
o LA & BN

Gravitational force

4W‘i’ﬂ‘ﬁﬂﬂﬂ?ﬁw

Question Number : 37 Question Id : 5431078799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which city has been adjudged as the cleanest city in Swachh Sarvekshan for
third year in a row ?

ffeiad § 9 $9-91 Y& W agU H oaR el 9) 99 W@ Y =1Ifhd
g3 2 ?

Options :

Chandigarh
, ASITg

Varanasi
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Question Number : 38 Question Id : 5431078800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The US has reduced validity of work and missionary visa from 5 years to 1 year
for citizens belonging to which nation ?

go THo A ¥ <9 & Hed H @A Ud gAY B deel (T U9 HRE) 9 @
dEdaT DI 5 99 9 "HerhY 1 99 & faar 2 ?

Options :

India
1. N

Russia
o> WYy

North Korea
5 STR DIRAT

Pakistan

4W

Question Number : 39 Question Id : 5431078801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Thirty-zix nations have signed an open letter criticizing which nations' human

rights record ?

36 91 4 U Yol UF H EREN PR

AT BT & 7
Options :
R'I.lEEiﬂ

M}*annmr
o ATTHIR

Saudi Arabia

4, AHAT 3T

b <91 & HHGNa®R] 9 Haigg Refd &6
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Question Number : 40 Question Id : 5431078802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Prime Minister Narendra Modi released the new series of 'vizuallj.' impaired
friendl}' circulation' coins, which denomination coin be of lZ-edged pnl}'gnn

shape ?

YETHAl s Al | giteanied aae ddoq fyapl B e B 21 12 @

arel 989 ATHN BT [T fha- qea &1 2 7

Options :

I

S.

N5

Question Number : 41 Question Id : 5431078803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Which of the given answer figures is exactly the mirror image of the question

figure if mirror is placed at AB?

&1 T ST ATHfaAl H  DE-A1 APl IS ATHIA B g9 gfafa 2 gfg gum

P AB U QT STdT & ?

Question Figure/J¥7d Wﬁ'{

A

Answer Figures/3JTiR 'SITQTﬁT*ﬁ

(A) | j‘
°
(A)
® | +
(B)
o |
| L ]
(C©)
*
ol ¢
|
I
(D)
Options :
I,A
B
2.
C
=
D
4.
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No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Out of the given four figures, three are similar in a certain way. One figure is
not like the other three. That means three figures form a group. The question is
which one of the figures does not belong to this group ?

&1 T AR afadl H 9 I &fdud UHN § §HF 2| U AP 3 39 & 9HHE
el 2| 39D Y ¥ ¢ b 9 Apfodl GHE greh €1 U I € b dE-d Uh
APHfa 39 WHe W Hafed =8 2 ?

P
2N E T

T
] R

-

()

(€)

u

(D)

r

I

-
i
!

Options :

A
1.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rahul put his watch on the table in such a way that at 6 PM., hour hand points
to North. In which direction the minute hand will pointat 9.15P.M. ?
g AU TS BT FH UBR Hl W @A 2 fFHE 6 a9 JWET °e D g3 I
@ AR Hehd DY ¢ | 6y fown 3 [@9e 31 g 9:15 a9 ud § Habd Bl ?
Options :

South-East

, GlEv-gd

South

Question Number : 44 Question Id : 5431078806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Two cars start from the opposite places of a main road, 150 km apart. First car
runs for 25 km and takes a right turn and then runs 15 km. It then turns left and
then runs for another 25 km and then takes the direction back to reach the main
road. In the mean time, due to minor break down the other car has run only
35 km along the main road. What would be the distance between two cars at
this point ?
a1 R 150 fHle 3T UHE Hed @ QUG I ¥ ol 2| 98al dR 25 fhdlo
Foral & o1 Il His odl € a1 aqvEd 15 Fie g 21 39 918 I8 9l
gedl ¢ Ud dceard 25 fadlo 3R Fordl 2 9 36 4% U9 HS® 9P Ugdd @
forg 9o 1 faen | Forcl 21 39 9" O1S! W TR & PR g R g9 9S@
TR Hael 719 35 fbdflo Tell 21 §9 ©F W THE SR @ 9" Dl g0 71 8F1 7
Options :

65 km
1. 65 fdto

75 km
> 75 fdHio

gcollegeduniaa

el
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The length and breadth of a room are 8 m and 6 m respectively. A cat runs
straight along all the four walls and finally along, a diagonal order to catch a
rat. How much total distance is covered by the cat ?

HHY DI oIS Ud diels $Haelk 8 Hlo Td 6 Hlo 21 Udh facell W9l IR AN 3N
I F P fadpv W &S FU F TP geT Ubsd & fod qredl &1 facell g™ &
Options :

10m

10 Hlo

14 m
14 Hio

38 m
38 #Hlo

4Sm
48 Hlo
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If Ax Bmeans Aistothesouthof B; A +Bmeanz AistothenorthofB; A%B
means A istothe eastof B; A—-B means A is tothe westof B, thenmn P% Q + R-5,5
is in which direction with respect to Q ?

Ui Ax B & Hdcid A QT B & GBIV € A + B &1 Adcld A W B @ SR €, A% B &I
A0 AT BT Rd € A-BHT Al AW B & Ul¥eH 8 T8 P% Q+R-5, H
S Qufeafeemd g ?

Options :
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South-West
1 : am-m'q-ﬁaq

South-East
cférr-qd

North-West
4 SR-uf¥ed
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No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Early morning after sunrise, Karthik was standing infront of his house in such a
way that his shadow was falling exactly behind him. He starts walking
straight and walks 5 metres. He turns to his left and walks 3 metres and again
turning to his left walks 2 metres. Now in which direction is he from his

starting point ?

ded gAled & 915 s 30 B B WHEA 39 avE 9 @l of fey suel WerE
S sUD NS TS Y&l oA | 98 WY o ™Y &Xal & adT 5 Jlo Idal & | 98 A
g gedl € Ud 3 Hlo Iordl & 921 T U9 9 Jedx 2 Hlo Foiam €| 3@ 98 A
RSP W= 9 by feem # 8 7

Options :
West
, IRTH

North-East
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South-West

4 HENRIEEL

Question Number : 48 Question Id : 5431078810 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a certain code, 289" means 'read from paper’' ; 276’ means 'tea from field’ and

'85' means 'wall paper'. Which of the following is the code for 'paper' ?

Ud ff¥aa @ § 289 &1 dded TR A YeAT g, '276' & Hadd W@d 9 9 € T4

'85' @1 HAdelg QAR BT 2| 7 H 9 ®F TR g @ € 7
Options :

1.4

(&

Can't be determined

4 feiea 98 f5ar -1 9ar 2

Question Number : 49 Question Id : 5431078811 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It E =5 and READ is coded as 7, then what is the code of DEAR ?

af¢ E=5 Ud READ 7 @ &4 H ®cdd &, a9 DEAR &1 @c &1 & 7

Options :

g

~

4]
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose Odd one out of the options :

fapedl 4 9 fquq &1 = -
Options :
PSOR

SVUT

MNPQ

MNML

Question Number : 51 Question Id : 5431078813 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

There are seven persons P, Q, R, 5, T, U and V up on a ladder (not in this order).
P is further up than T but is lower than R. Q is in the middle. V is between P
and Q. T is between Q and U.If U is between T and 5, the person on the bottom

step of the ladder will be :

Uh el WIW AT AR P, Q, R, S, T, UMRVE I #H H A8 2)| P, T &l
JUET AT FW e ABA R P AT A I QFA HEZIV, P W Q & 19 8l T,
QUi UHdagIaR U T vl S & da g o del & f-ge 9 oY afdg 819

Options :

{ﬁ
o

1.

5 B
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Question Label : Multiple Choice Question
If you write down all the numbers from 1 to 100, then how many times do you

write 3 ?

afe 39 1 9 100 9@ 99 S forad € o1 9ma fha ax 3 foraa € 7
Options :

, B

Question Number : 53 Question Id : 5431078815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Tnda}' is Varun's birthdaj:. One year, from today he will be twice as old as he

was 12 years ago. How old is Varun today ?

TS IOV BT WHfed &1 AW | Ud a9 918, 98 QI SH & 8F1 f9a-1 a8 12
9 UES T | 3T qO01 P SH T ?
Options :

20 years

20 7

22 years

5 22 Y

25 years

r

25 94

!Hi"
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Question Label : Multiple Choice Question
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Ayush was born two years after his father's marriage. His mother is five years
yvounger than his father but 20 years older than Ayush who is 10 years old. At

what age did the father get married ?

Y I fUaT & faare @ 37 99 arg UST g1 o1 | SHS! Al IS fUar § ur" 9
BICI € oifeh g9 ¥ 20 99 g1 € o 10 99 &1 € | fbw 97 4 faar &1 faare gan

) |
Options :
23 years

23 @8

25 years

25 a%

33 years

33 a9

35 years

4 35 @9
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No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
In a group of persons travelling in a bus, 6 persons can speak Tamil, 15 can

speak Hindi and 6 can speak Gujarati, in that group, none can speak any other
language. If 2 persons in the group can speak two languages and one person can

speak all the three languages, then how many persons are there in the group ?

a9 H I PR Y2 Aldaqdl d 98 H, 6 iRl difd |l Jha 8, 15 Bl 91 e

g Ud 6 oMl ald Hahd € 39 9HE H @i [l 3 A $1 7€ a1l gl g |
afe wHE 4 2 «afdkd &1 WIS 491 Webd & Ud U Afdd 99l A1 9IS a9Tel Hehdl
2, al 948 H oo aafaa € 2

Options :

21
1
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Question Label : Multiple Choice Question
Which of the following Venn-diagram correctly illustrate the relationship

among the classes : Carrot, Food, Vegetables ?
=1 3§ 9 $9-97 99-3Ng Ao ;- e 9. d9feadl #§ 9E-9g] 96y W el
3

(a) (b)

N

B0 O (d) t@ O

Options :

L (a)

Question Number : 57 Question Id : 5431078819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

collegedunia:s

India’s largest Student Review Platform




Three of the following four are alike in a certain way and so form a group.
Which one does not belong to that group ?
M= o) 4 9 99 & f[Af¥ea 99 9§ 99 € 921 39 UaR U6 998 a91d 2 | A
H | BH-91 U 9 998 9 Hafgd 8 2 ?

(a) Tooth (b) Chin (c) Nosze (d) Ear
Options :
1 (a)

5 (b)

3 (c)

d
4.()
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Question Label : Multiple Choice Question

Find the odd one out :

Options :
Flower ; Petal

Circle ; Arch
5 q1 ; di4

Cover ; Page

s foa - O

Chair ; Leg
4 w4l I”
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Question Label : Multiple Choice Question
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Arrange the following in a logical order :
/=1 @1 arfhd F9 A FGRIT HINAT ¢
(1) Shoulder (2) Writs (3) Elbow (4) Palm (5) Finger

e HATS HE! DRI CHE!
Options :
y 2,4,5,3,1
» 3 1LALS
3 249521
~,
. 4231
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The LCM of two integers is 1237. What is their HCF ?
a1 QUIehl T AT GHNEd® 1237 8, T Sl Hed GHIGdSD BT

Options :
37
4 By

9
2,l

None of the three

4 A A B
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The LCM and HCF of two number x and y are 3 and 105 respectively. If x + y = 36,

s .
thevalueof —+— is:
x v

a1 W@T x T y & STYTH Ud HedH 9HaGd HEeE 3 @ 105 21 afE x + iy = 36,

L | \
dal —+— &I HH &F
X ¥

Options :
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3 315

o

4 35

Question Number : 62 Question Id : 5431078824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Two 3 digit numbers have their HCF 29 and LCM 4147. The sum of the
numbers is :

&9 ST arell &1 GE@nai BT HEH GHGAs 29 T oYd GHTads 4147 €|
aI-] G BT ART BT

Options :

60606
1:

669
2.

696
3.

966
4.
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Question Label : Multiple Choice Question

9—-1—of 3—=5—of —= .
7 9

. »
01— i ‘£i+5i &l i= ............

9 11 7 9
Options :

1

1=

1 4
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Question Label : MUItip]E Choice Question

It : =2 thenx=0:

1+ ll
1+—

Options :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

G E . oo then which of the fullnwing is true ?

. I{ '} r \ = %\ A &
UG a=43+43+v3+.... T4 d ®F ¥l & ©

Options :
| =3
2_3"7:0:{-.1:
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Value of +0.2 will be -
v"E T 99 BT -

Options :
£
1 . 0 - 0-_.

> 0.2

5 0.446

4 0632

Question Number : 67 Question Id : 5431078829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It 9v’T= /12 + 147 then i is equal to:
AT 94/ =JE+\:'E dal x &1 |99 81 ;
Options :

—

1.3

ia
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Average of two numbers is 6.5 and square root of their prnduct is 6. What are

the numbers ?

<1 |l @7 S 6.5 T G [UAEA BT THA 6 € | HEAW EFf

Options :
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If the difference between the average of x, ¥y and y, = is 12, then what is the
difference betiwveen x and = ?

X,y T y, > & Al &7 =R 12 2, x TAT = & 90" =N B

Options :
1 24

Question Number : 70 Question Id : 5431078832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : MLlltip]E Choice Question

X is 36 years old and Y is 16 years. In how many yvears will X be twice as old as
i s
X®IH36qETdd YD I lod el a1 aul F X I SF Y 9 a1 T &
ST ?
Options :

1 year
;1 ay
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3 years
3 3T

4 years
4 4@

Question Number : 71 Question Id : 5431078833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rajeev's age after 15 years will be 5 times his age 5 years back. What is the
present age of Rajeev ?
Rl @1 B 15 99 915 SHS 5 94 gd & A1G B 5 I BNl | g B gdq= Ay
G 23| M
Options :

D years

5 a9

10 vears
> 10 a4

15 years
15 99

>0 years
4 50 d9

Question Number : 72 Question Id : 5431078834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

{243)_E x32f1+1
3

Find value of
g % n-1

n
{243}5 % 32”4—1
()r'.’ % 3.‘5‘1

Options :
1 3

&I °9149 19 BT il
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find the largest among %@,%ﬁ,xﬁ and qu ;

5.3, V2 ceon Y4 AP Geq AT B ?
Options :

dﬂ_
il

5]

s
20

Question Number : 74 Question Id : 5431078836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

' " : A
If =3+2~u‘§ then | ,14+—4: will be :
| A J

afe x=3+2J2 @@ ‘.1‘+—4| T AT BT :
\ A '

5 1734

None of the three

4 T H W BIE T2
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Question Number : 75 Question Id : 5431078837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A mixture of 20 kg of sprit and water contains 10% water. How much water
must be added to this mixture to raise the percentage of water to 25% ?

20 fdodTe WIE Ud UMl & A5 F 10% U1 21 39 &350 d fasaq=r g1 f[enm e
g 6 = &1 ufaerd e 25% B W 2
Options :
1 kg
4 fehoITo

(¥ &

kg

5 8 fehoTo

30 kg
4 30 fehoTo

Question Number : 76 Question Id : 5431078838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The radius of a circle is increased bj_.' 1%, the percentage increase in area is :

g0 & B 3 1% A 9f e W o afed @ Je Sue dewa d @
CIE2E T ?

Options :

1%

1 8

l-) 0.
i 2.01%

Question Number : 77 Question Id : 5431078839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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One litre of water is evaporated from 6 litres of a solution containing 5% salt,

the percentage of salt in remaining solution is

%

6 TICx °Id H 5% TH® B, $HH 9 Udh e UMl a9 g9 Y S$ Wl 8, 9d &9

0t H F99% &1 gfaverd 25

Options :

4
4—%
1. 9

L)
STE?:

Question Number : 78 Question Id : 5431078840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

A single discount equivalent to successive discounts 30%, 20% and 10% is :

AT BE 30%, 20% TAT 10% & @x16Y U BT 2Fl ¢

Options :
1 50%

Question Number : 79 Question Id : 5431078841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What price should a shopkeeper mark on an article costing him ¥ 153 to gain
20%, atter allowing a discount of 15% ?

Ush GHMGR I 9% TN T HiFd dfdd Y [T IHPT 20% &1 o 81 Sdid
SH®T Hd Jod T 153 B, fal R 15% & g W <ar g ?

Options :
2
1 < 162
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Question Number : 80 Question Id : 5431078842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A shopkeeper bought 3 pens for T 34 and =old 12 pens for ¥ 57, the number of
pens, that he should sell to have a profit of ¥ 900, must be :

U GhraN 8 U9 T 34 &l X ¥ @ASHY 12 U9 X 57 H dwar €1 T 900 &1 i
qrd R B B b U 99 g9 US 7

Options :
3 1400

> 1600

Question Number : 81 Question Id : 5431078843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If 5x° —13,1_u+{:-y2 =0 thenx:y=2?
afg 5a° _13-".”"‘6.”2 =0 @ x:y &I HA 2 :
Options :
(5:3Noel :2)
1 (5:3) 91 (1:2)

(3:5)or(2:1)
(3:5) 91 (2:1)

only (2:1)
3 ®ad (2:1)

only (3:5)
Had (3:5)
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Question Number : 82 Question Id : 5431078844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Mean proportional to 0.32 and 0.02 is :
0.32 TT 0.02 &1 FEAIId BT

Options :
, 017

Question Number : 83 Question Id : 5431078845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A circle and a square have the same area. The ratio of the side of the square and
the radius of the circle is :
Udh g1 a7 Uh a7 Bl &% GAH &1 I B Yol b1 Ui g9 D JgAd &
|1 B
Options :

I
1 vm:l

2r1:\fuf_t'

Question Number : 84 Question Id : 5431078846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

A and B are partners in a business. A contributes i of the capital for 15 months

and B received 3 of the profit. Find for how long B's money was used :

Uh ATIR H A TU1 B I=GR 81 A & A0 & 7 g 15 HelHl & g oFmer

HQHBWFET?‘HTTI:AIL«-Irhﬂﬂi%lB‘?ﬂf‘!fG‘ﬁﬁa HIE & Teq 8+ ST 2
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Options :
6 months

Ib%ﬁ‘if

9 months

29 L

10 months

3,10 el

1 year

4 17

Question Number : 85 Question Id : 5431078847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A train of length 150 meters takes 40.5 seconds to cross a tunnel of length 300

meters. What is the speed of the train in km/hr ?

Ud 150 HIcy o1 ¢ 300 HieY & THdl @I HiY & d 405 FFHvS ol 81 ¢

P =TTl R /9ver 5 |1 8 7

Options :
1 13.33

, 1111

5 40.0

4 60.0

Question Number : 86 Question Id : 5431078848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A man sell his chair for Rs. 720. He loses 25%, to gain 25% he should sell it for :
U HEH AUHI HEI 720 $o H g9l B | TH 25% Bl B B B, 25% T UIE
& B g, 99 w4l B faq § g9 =@y ?

Options :
, 1220
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, 1200
3 960

4 900

Question Number : 87 Question Id : 5431078849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A total of 324 coins of 20 paise and 25 paise make a sum of R=. 71. The number
of 25 paise coins is :
20 TRy g 25 09 & & 324 @ 71 To &40 &1 25 T & fyarpi &1 G@AT 2

Options :
§ e

144

Question Number : 88 Question Id : 5431078850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A is 3 years older to B and 3 vears younger to C, while B and D are twins. How
many years olderisCto D ?

ABUA3TU S 2N C U3 Ul BlET & Waib BAAT D Jsar 21 C, D 9
fpas a9 g8 2 ?

Options :

Question Number : 89 Question Id : 5431078851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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A father is now 3 times as old as his son. Five years back he was 4 times as old
as his son. The age of the son is :

U fIdr 39 999 U9 gA I AY BT 3 A1 2| U™ a9 U8 98 AU g Dl Ay
BT 4 AT AT| A BT MY ¥

Options :
12 years

y 12 @9

lS}-‘Ear‘::
> 15 99

20 years
4 20 99

Question Number : 90 Question Id : 5431078852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Next number in the following series 3,7,16,35,74, ............. is.
fr=iferiRad e 3,7,16,35,74, ... 5 3T 3P ¢ |

Options :
; 150

Question Number : 91 Question Id : 5431078853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

There are 25 paise and 50 paise coins in a purse. Their number is 50 and value is
Rs. 17.50. The number of 25 paise and 50 paise coins are respectively :

U UH 7 25 99 U9 50 U9 & fhas €| 3@ G& 50 € Ud gAST J19 o 17.50
2125 U4 U9 50 U9 & Rgasf @ S HHer: 2

Options :
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30 and 20
30 uq 20

20 and 30
20 U9 30

Which one of the following is in descending order ?

g S O P acad Fa A 8 ?
Options :

15 14 17

177195

fo—
¥ ¥
[}
o)
[—
I\_J-I

N
I
I
it
o
O

16 17 17

1972618

3. 505

Question Number : 92 Question Id : 5431078854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Question Number : 93 Question Id : 5431078855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question
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A person travels 30 km by bicvcle with 10 km each with speed of 20 km/hour,
15 km/hour and 25 km/hour, respectively. An average speed of the person is
closest to :

Us Afdd Asfha ¥ 30 fhoHlo =eidl 21 U@ 10 fdhodlo g8 A 20 fdhodlo Ufd

Her 15 fhodle 9fd =T ud 25 fFodleo Wi el &1 1fd 9 Todar & | Afdg &1 39

UG 37‘:[ ¥ fogs 949 2l
Options :
19.20 km/hour

; 19.20 fdodto Hft wHer

19.15 km /hour

, 19.15 oo Ui HeT

19.30 km/hour

5 19.30 fodilo wfy wier

19.50 km/hour

4 19.50 fhoHle Ufd HeT

Question Number : 94 Question Id : 5431078856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Median of 3, 4, X and 10 is 5. The value of X is:
3,4, X Ud 10 & Hifegsd1 5 21 X &1 94 851

Options :
4 149

5 O

Question Number : 95 Question Id : 5431078857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

[ ]
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Which of the following is different from others ?
9H 9 B gExl |9 = 2 ?

Options :

y 17

> 19

Question Number : 96 Question Id : 5431078858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

f(X-Y)=1and XY =0, then X2 34

gt (X-V=1TWXY=0a X°-Y’ 199 2 :

Options :
1 0

Question Number : 97 Question Id : 5431078859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Look the following figures :
Al e fos o
4

(6%

N
w
e

Which of the following sentences is frue ?

Ffefad 3 9§ &4 9 g8t g ?
Options :
Areas of the three figures is same.

Rkl =] &1 &5hol avay & |
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Perimeters of the three figu.re& are equal.

, AT R @ URR awreR

Areas of the three figures are different.

. SIGIREEIRG IR BTN =l

Both Perimeters of the three figures are equal and Area of the three figures
are different.

4 O R @ aRfE aReR 2 ud < R @ aewd i 8 ST

Question Number : 98 Question Id : 5431078860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following fraction is the lowest ?

FteTad 91 § Wad =JAad $H 8 7

Options :
19
{ 20
13
17
2.
15
3 17
21
23
4.

Question Number : 99 Question Id : 5431078861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Ly
It 5°

+x" =150, then value of x i5 :

. 3 = \ =
e 5°+x° =150, 9T x &1 99 B :
Options :

1,

o
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Question Number : 100 Question Id : 5431078862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It arithmetic mean of natural number 1,2,3, ... ... ,11is 2.5, then value of 11 1s :

S AIPia® WE 1,2,3, . , 1 T FAR J1ed 25 8, 1 n &1 7 € ¢

r '

Options :

Question Number : 101 Question Id : 5431078863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If Sunday comes after 6 days from today and today is 15 October, then the day

on lst January next year is :
Pl 71 4 | &1 e 8rm ?

Options :
Monday

Wednesday

2, JHAN

Tuezday
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Question Number : 102 Question Id : 5431078864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In certain code MAILED is coded as NBJMFE, then LETTER is to be coded as :
MAILED &1 %¢ & 991 § NBJMFE & &9 # fof@r am €, df LETTER &1 sdl

Re q forar S

Options :

1 MUUPGY

5 PFUUMY

3 DMBIT1S5

A MFUUFS

Question Number : 103 Question Id : 5431078865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It India is written as 95491, then DELHI will be written as :
afe INDIA &1 95491 & @2 ferar 773 & df DELHI &1 394 ¥ b9 v foran

Options :
; 45389

Question Number : 104 Question Id : 5431078866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Missing letter in the following is :
=1 § ETram gam 3R 2

Q|-
< |90

Options :
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Question Number : 105 Question Id : 5431078867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
A mother is three times the age of her son. Five years back the son was 1/7th of

his father. If father is 5 years older than the mother, the age of the son is :
&1 1,7 f2wan o | fOar &) g J1ar @) 3y 9 Ui 99 Sa1eT g, a1 9¢ @1 3y B8R

Options :
12 years

y 127

10 years
> 10 a9

18 years
3 1899

Question Number : 106 Question Id : 5431078868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
5 percent of 2 hours and 20 minutes is :

gl Hc U4 20 f34c &1 5 ufaerd 89 -

Options :

7 minutes

. 7 {-c

14 minutes

> 14 7€
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7 minutes and 2 seconds

5 7 T9E ©d 2 davs

14 minutes and b seconds

4 14 ﬁq—q? QH 5 H‘ q-il“Er

Question Number : 107 Question Id : 5431078869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If 5 iz substracted from cube root of any number, it becomes zero, then the

number is :
afe fo & & v99a 9 5 "l fGar 9 1 98 I B W g, d 98 6

8
Options :
1. 829

=3 123

3 900

4 100

Question Number : 108 Question Id : 5431078870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If area of rectangle is 30m? and perimeter is 36 m, then width of the rectangle is :

Ufe U (AT BT &hel S0m2 T SH®! IR 36 m & o SH®d! dlels a9
Options :

1rbm

> 10m

Question Number : 109 Question Id : 5431078871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If 2 is substracted from cube root of a number, then it becomes 2, and if 4 is
substracted from square root of the same number, then it becomes 4, then the
number is :

e U §& @ U9He 9 2 "ol G 9 df 98 2 @1 il g, Ud 99l 6 @
T 9§ 4 HeT f3dr S a1 98 4 81 Aran 2, o 9 @rf

Options :

1 Sl

> 729
3 64

4 125

Question Number : 110 Question Id : 5431078872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

In a row of students, Ram is 11th from left and Seema is 7th from right. If they
interchange their positions, then Ram becomes 15th from the left. How many
students are there in all.

femfdai s v d W AR F1ld WA R AT I S 9 7d ©F W 21 afe
IH IR THET I WA SA-gSall B of of VH 914 9 1549 @9 W 3T AT 2

ol faenfar @ we el |

Options :
1 20

Mo
U

R
H

Question Number : 111 Question Id : 5431078873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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If the following squares represents the monthly income of two families.
A B
2 3

If monthly income of family A is Rs. 40,000 then monthly income of B is -

afe uRaR A &1 A1i® 39 40,000 € o7 uRaR B &1 d1f9® 319 86 ¢
Options :
; 90,000%

> 60,000 %

5 50,0003

4 1,20,000%

Question Number : 112 Question Id : 5431078874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Out of two candidates in an election, one gets 60 percent of votes and win the
election by 600 votes. The total number of votes is :

Udh g H a1 ganEl g Ue ycarill 60 ufded 4 Ut @x 600 9 9§ Wild Wil
Options :

; 1300

> 2000
35000

4 3000

Question Number : 113 Question Id : 5431078875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When 24 is added to 40 percent of a number, the result is the number itself. The
number is :

afe fordl 9@ @ 40 gfawg 3 24 S fSar 9w, o1 98 91 81 Jdr 8 | df 9

=%

. T
Options :

[ ]
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1 16

2. 40

Question Number : 114 Question Id : 5431078876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Three numbers are in ratio 1 : 2 : 3 and their HCF iz 12. The numbers are -

e A& 1:2:3 @ Sura § 2 9 991 Je0d GATddd 12 2| @I aqrgy |

Options :
' 12,24, 36

22,
> 11,22, 33

. 12,24,34

Question Number : 115 Question Id : 5431078877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Five-eighth of three-tenth of four-ninth of a number is 45. What is the number ?
U GT BT 4/9 BT 3/10 BT 5/8,45 €| &A1 9arsy |

Options :
1 470

> 250

Question Number : 116 Question Id : 5431078878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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The ratio of the present age of father to that of son iz 7 : 2. After 10 years their
ages will be in the ratio of 9 : 4. The present age of the father is :

foeT Cd 9= @ a9 g & IGA[ 7 - 2 2 10 99 & SR SHD AY B
FUTd 9 :4 BFT | U 3 gdHE g fhal 2 7

Options :
35 vears
1 30 a4

40 years
> 40 a9

30 vears
3 30 99

25 years

4 25 T

Question Number : 117 Question Id : 5431078879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

The ratio of 1 hour to 300 seconds is :
1 e : 300 GHhUs &1 |49 81 :

Options :

> 15:10
3 10:15

412:1

Question Number : 118 Question Id : 5431078880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a certain code language :

'white is verv bad' is written as 'la toja za’

‘cold drinks are white' is written as ' ja parada’
'coffee is very cold’ is written as 'da to fa la’
What is the code for bad'?

U He 9T H ‘white is very bad' @I la to ja sa' fa@d €| 'cold drinks are
white' &1 'ja parada’ ff@d 2| 'coffee is very cold' 1 'da to fa la' ferad 2 |
39 9T 5 bad HT H FT BN 7

Options :
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Sub-Section Number: 2
Sub-Section Id: 543107166
Question Shuffling Allowed : Yes

Question Id : 5431078881 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes

Question Numbers : (119 to 120)
Question Label : Comprehension

Study the following information carefully to answer the questions given below :

Eight persons namely K, P, I, N, O, L, M and ] sit in two parallel rows opposite to each
other. Four persons sit in each row. In row 1 : K, P, I, N are sitting and all are facing
south direction. Inrow 2 : O, L, M, | are sitting and all are tacing north direction. | sits
second to the right of L, who sits opposite to the one, who is immediate neighbour of
I, N sits second to the left of P. P does not sit extreme end of the line. M does not sit
opposite to K. O is not neighbour of |.

A &l TS GAA & AER R U B ST S0 |

g @fad K, P,IL N,O, L, M 3R | & Ufdaal § qH--a- 4o 2| Ub dfad # K, P, I, N
ST B TRE g FRD 90 2 | gR Afdd Hedd Ufdd H 98 & | g ufadg § O, L, M, ] SR
P TP HE B 90 2| ], L & I oG do1 o 9w Afdd 2, Wl fh S9 afdd & 9
dor g Wi fh S I & urg de1 2| N, P & 9l oX% de1 a3 dfad 2 | P fsdt it ofeg
4 qer g sfvad aifad =18 2| M, K & 9 7181 481 21 O,] & urd &1 a1 2 |

Sub questions

Question Number : 119 Question Id : 5431078882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Who sits opposite to P ?
P& OEA pH de1 2 7
Options :

T
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Question Number : 120 Question Id : 5431078883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who sits second to the right of I ?
I & Sl a¥% dal gl Nl afed a1 2 7

Options :

5 P

> N

3z O

4, K

section II Enghish Language Test

Section Id : 543107127
Section Number : 2
Section type : Online
Mandatory or Optional: Optional
Number of Questions: 30
Number of Questions to be attempted: 30
Section Marks: 90
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 543107167
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5431078884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word nearest in meaning to the given word :

Battle :

Options :
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> To disconcert
5 lease

4 oend ay vay

Question Number : 122 Question Id : 5431078885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Select the word nearest in meaning to the given word -
Rejoice :

Options :

1 Rejoin

> Rebuild

5 Rename

4 Delight

Question Number : 123 Question Id : 5431078886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Select the word nearest in meaning to the given word :

Handful -

Options :
1 Useless

5> Usetful

5 a few a little

4 Powertul

Question Number : 124 Question Id : 5431078887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word nearest in meaning fo the given word :

Upheaval :
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Options :

1 Upward turn

Abrupt change
Slow change

Outcome

Question Number : 125 Question Id : 5431078888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word opposite in meaning to the given words :
Embellish :

Options :
| Distigure

> Imngine

3 Beautity

4 Disarm

Question Number : 126 Question Id : 5431078889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word opposite in meaning to the given words :
Wane :

Options :
1 Widen

> Fatten
3 Prosper

4 Reduce

Question Number : 127 Question Id : 5431078890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Select the word opposite in meaning to the given words :
Arduous :

Options :
. Easy

5 Strange

4 Unknown

Question Number : 128 Question Id : 5431078891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word opposite in meaning to the given words :
.Peer:

Options :
1 Unequ al

> Uncertain
3 Sure

4 Equal

Question Number : 129 Question Id : 5431078892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

celect the correct meaning of the given idiomatic eXpPressions :
Give in :

Options :

1 € elebrate

5 Surrender
- Give a gift

4 Enjoy

Question Number : 130 Question Id : 5431078893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expressions :

Call a spade a spade:

Options :
g Say the truth about Emnethj.ug

> Be harsh
3 Be polite

£ Be forgetful

Question Number : 131 Question Id : 5431078894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Select the correct meaning of the given idiomatic expressions :
A red letter day :

Options :
: A red letter day ;

3 A bloody day

s An auspicious day

4 A foggy day

Question Number : 132 Question Id : 5431078895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expressions :

Call names :

Options :
A bloody day

5 An auspicious day
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. A foggy day

4 A rainy day

Question Number : 133 Question Id : 5431078896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct form of the verb to fill in the blanks in

the given sentences :

S —— him since last January.

Options :
{ have zeen

> have not zeen

5 do not see

4 did not see

Question Number : 134 Question Id : 5431078897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Select the correct form of the verb to fill in the blanks in

the given sentences :
| R the match will be cancelled.

Options :
1 will rain

5 would rain

3 rained

4 rams

Question Number : 135 Question Id : 5431078898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Select the correct form of the verb to fill in the blanks in

the gi\'E‘ll sentences :

We should reach home beforeit ....... .. dark.

Options :
{ got

5 15 getting
- gets

4 will get

Question Number : 136 Question Id : 5431078899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct form of the verb to fill in the blanks in

the gi\.'Eﬂ sentences :

WhenImethim he ........_. a letter to his mother.

Options :
15 writin
| g

> will write

g was tmtmg

4 would write

Question Number : 137 Question Id : 5431078900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the correct option to form the right sentences -

He knows ... .. a plane.

Options :
, to flving

> flving art
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5 how to fly

4 art

Question Number : 138 Question Id : 5431078901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Choose the correct option to form the right sentences -

san sai c C < - 1 RO i C Spiri ;o e -
The =zaint said that a war of liberation reat spirit, sacrifice, and
patience.

Options :
, comp elled

> torced

5 encmuaged

4 demanded

Question Number : 139 Question Id : 5431078902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choosze the correct option to tform the right sentences -

History is replete with examples of strong nations ......... the weak ones.

Options :
g, re qun'mg

5 domina ting

3 advncating

4 na&erting

Question Number : 140 Question Id : 5431078903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question
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Choose the correct option to form the right sentences -

The young students ... . the highest peak of the Shivalik range of the

Options :
1 won

> scaled
3 walked

4 climb up

Question Number : 141 Question Id : 5431078904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Select the part of speech of the underlined word in the

gi‘u-' en sentences :

Who will bell the cat ?

Options :
1 Noun

> Verb
3 Adverb

4 Adjective

Question Number : 142 Question Id : 5431078905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Select the part of speech of the underlined word in the

gi\-' en sentences :

He met me near the bank.

Options :
1 Noun
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5 Conjunction

3 Adverb

4 Adjective

Question Number : 143 Question Id : 5431078906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Select the part of speech of the underlined word in the

gi‘."E'l"l. sentences :

My aged aunt is very affectionate.

Options :
1 Noun

5 Verb
3 Adverb

4 Adjective

Question Number : 144 Question Id : 5431078907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Select the part of speech of the underlined word in the

given sentences :

He treated me well.

Options :
i Noun

£ \791’1]
3 Adverb

4 Adjective
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Question Number : 145 Question Id : 5431078908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

How does this differ ...._..... the other ?

Options :

;. by

o1

at
3.

from

Question Number : 146 Question Id : 5431078909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

She was interested .......... modern art.

Options :

1 of

5 with

‘b.
3 9)

11

Question Number : 147 Question Id : 5431078910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

The great English poet John Keats died ......... consumption.

Options :

collegedunia:

India’s largest Student Review Platform



Tw‘iﬂ'l
of
at

by

Question Number : 148 Question Id : 5431078911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word which has been wrongly spelt

Options :
{ Distinguiz-hed

5 Publication
3 Ginger

i Futilty

Question Number : 149 Question Id : 5431078912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Select the word which has been wrongly spelt :

Options :
1 Indep endence

Decieve
3 Moderate

4 Canvass

Question Number : 150 Question Id : 5431078913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question
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Select the word which has been wrongly spelt :

Options :
Auxilary
3 Repertoire
Receive
5
4 Restaurant
section II Hindi Language Test
Section Id : 543107128
Section Number : 3
Section type : Online
Mandatory or Optional: Optional
Number of Questions: 30
Number of Questions to be attempted: 30
Section Marks: 90
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: |
Sub-Section Id: 543107168
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 5431078914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUltip]E Choice Question

ARG Hb -fj': o ?' /

Options :

], TR

2 a_,;lg.g :' Ir'l'.l"i % _q '\:H -
A9T9Ted

3.

g, A=

Question Number : 152 Question Id : 5431078915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question
Options :
1. S

5 TN 1 NU]

3.

4, ﬂaﬂ'r' |

Question Number : 153 Question Id : 5431078916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Options :

h¥

2

5 AR T4

4r?rq=|fmf-‘:m€r

Question Number : 154 Question Id : 5431078917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

B % . 2 % 1 ul als
HUE & Bl B o dd DI € 7
o

Options :
VHT= -zi':i(;'
1

4 HEdN gare fgae

5 BON gETE fgadd

4‘1TT|71‘3'I71
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Question Number : 155 Question Id : 5431078918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

p, =i

> FfTare
3 7 g
4 QAT U

Question Number : 156 Question Id : 5431078919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

8 ¥ fog $fd & o@s Bufiea-ig ] € 7

Options :

3 :1" Al 3 ”ﬂﬂ

4wa‘eﬂr~ﬁ

Question Number : 157 Question Id : 5431078920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

TN b AT B B 7

Options :

5 GEATIET Ud
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Question Number : 158 Question Id : 5431078921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

> fﬂ"‘fgl"'-.[;:-tl\i

4 I%; Rl s 1622 B B3 IO 1 7

Question Number : 159 Question Id : 5431078922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

S RELES ha® sy of ?

Options : _
1 *H‘-Il'jjx.rﬂt“*‘.l

5 Hearard

Question Number : 160 Question Id : 5431078923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

1 T

, B
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Question Number : 161 Question Id : 5431078924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

B BET AT HEHl & d@d DI & ?

Options :

1. GaN
3 HIEH DT
5 AZHY I TeNT

4 TR A

Question Number : 162 Question Id : 5431078925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

11‘7’-39@%

A4 37 IS
2.

3 oV

g Y

Question Number : 163 Question Id : 5431078926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

AUl H B T T B Fad dBT & °
Options :
[ |
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Question Number : 164 Question Id : 5431078927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :

r= =
&2

Question Number : 165 Question Id : 5431078928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Hadd H ®iH-d |9fY 2 ?
Options :

1:ﬁ-q
3 &

4.W

Question Number : 166 Question Id : 5431078929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Options :
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Question Number : 167 Question Id : 5431078930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

HE H PH-GTIHE 8 7

Options :

Question Number : 168 Question Id : 5431078931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

N 5 % 5 -
ﬁr{ r“i -W ﬂ.it'z--! E-tg.["-e'l Er' r

Options :

\5 =
1 UREs

Question Number : 169 Question Id : 5431078932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question
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Options :

Question Number : 170 Question Id : 5431078933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

24 9 Yadras 95 -1 8 7

Options :

ar
ik
3I '3.1

Question Number : 171 Question Id : 5431078934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

T 9 R B e #

Options :

) ?-I-Iﬁ i c]

Question Number : 172 Question Id : 5431078935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

&7 ¥ B Tt T 7

Options :

13117::1:1'?1’1'[

Question Number : 173 Question Id : 5431078936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

fa@ar @1 facmeds a1 8 ?

Options :
™Mt
. 13

Question Number : 174 Question Id : 5431078937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

94 9 B9 @B TP fddA™ T E 7
Options :

L [+
1

<
2I §
BIEFTTEI
g 95
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Question Number : 175 Question Id : 5431078938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

W& D ST @A 1T $ v Geid IS R 8 7

Options :

1r i:1ili{-|

Question Number : 176 Question Id : 5431078939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUltip]E Choice Question

Options :
. THYT

5 THETIOT
= qHEY

g T3

Question Number : 177 Question Id : 5431078940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

g BT AL & ?
Options :
. GqPp] B89 Il

5 Jg D1 3D

elg
3,
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Question Number : 178 Question Id : 5431078941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

394 | f&9® g1 UC &1 T & 91 BT 8 7

Options :

Question Number : 179 Question Id : 5431078942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

I UR GURI TS BT T HY 2 7

Options :
guald IR oAl

F] T Uh ]
3 'fi';(j'!i [1‘1.-."1 fhf;”

, GG BT B

Question Number : 180 Question Id : 5431078943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

TerH IS o @1 Y B

Options :

135’%‘:1?’2'?31?1

5 qgd <aX (cigHl
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